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Calculate the design head over an Ogee spillway of a concrete gravity dam and

draw the dam profile. The dam downstream slope of OFH 2 ¥ V. The design

| discharge for the spillway is 8,000 m3/sec. The height of the spillway crest is

| kept at 204.0m. The average river bed level at the site is 100,0m. The spillway
length consists of 6 spans having a clear widbh of 16 m each. Thickness of each :
| pier may be taken to be 2,5 m. Assuming that 90° cut water nose piers and !
rounded abutments.
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Problem ()

An Ogee weir spillway is to be constructed a cr'oss a spillway channel to serve as a main
Spillway for ar? Yw;wdam The following data is available:
e Bed width of spillway channel, B=4, and side slope 1:1,
o Channel upstream bed level (USBL) and downstream bed level (DSBL} the weir are (106.00)
and (105.00) respectively, | '
Normal reservoir level (NRL)= (108.00), Pier + Rounded

. Maximum flood level ={109.50), —‘WM R L A L U‘}'MM — Rouvﬂc\{d’

Max. flood discharge , Qmax=15.48 m*/sec,
o Downstream water level (DSWL)= (107.00),

e The foundation soil is clayey sand for which Cg=12, and the safe value of exit gradient is 0.15.

i Carryout the following:

» Design the weir opening. .
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PR—— o,

. Desagn a sun'rable sechon for' ‘rhe syphon splllwa) of a concr‘e're gmva'ry dam The
maximum discharge to be spilled 50 m3/sec.

_{ The normal reservoir water level = (110. 00), the foundation Ieve! (45.00), the ‘

i tailwater level (70.00), the dam fop Ievel (115.00), and the des:gn head=2.0m.
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Pmblem (2)

A siphon spillway is to be constructed a cross a spillway channelto =
discharge ( q )=20.8 m3/s, aécording to the following data:

Upstream water level (USWL) = (68.00)

Downstream water level (DSWL) = (66.00)

Upstream bed level (USBL) = (65.00)

Downstream bed level (DSBL) = (64.00)

Bed width of channel = 5.0 m and the side slope 1:1.

Outer radius B9 =3.0 m inner radius (@) =1.0m

Using the two approach of siphon discharge; orifice flow motion and vortex flow motion

yvou are asked to:

e Design the siphon opening
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